 EQ ax\s\up8(2)-ay-bx\s\up8(2)+cy+by-cx\s\up8(2) = EQ  \b(-a+c+b)y+\b(ax\s\up8(2)-bx\s\up8(2)-cx\s\up8(2)) =

= EQ  \b(a-b-c)\b(-1)y+\b(a-b-c)x\s\up8(2) = EQ  \b(a-b-c)\b(\b(-1)y+x\s\up8(2)) = EQ  \b(a-b-c)\b(-1y+x\s\up8(2)) =

= EQ  \b(a-b-c)\b(-y+x\s\up8(2)) = EQ  \b(a-b-c)\b(x\s\up8(2)-y) 
 EQ xy\s\up8(2)-by\s\up8(2)-ax+ab+y\s\up8(2)-a = EQ  \b(x-b+1)y\s\up8(2)+\b(-ax+ab-a) =

= EQ  \b(b-x-1)\b(-1)y\s\up8(2)+\b(b-x-1)a = EQ  \b(b-x-1)\b(\b(-1)y\s\up8(2)+a) =

= EQ  \b(b-x-1)\b(-1y\s\up8(2)+a) = EQ  \b(b-x-1)\b(-y\s\up8(2)+a) 
 EQ ax+bx+cx+ay+by+cy = EQ  \b(a+b+c)y+\b(ax+bx+cx) =

= EQ  \b(a+b+c)1y+\b(a+b+c)x = EQ  \b(a+b+c)\b(1y+x) =

= EQ  \b(a+b+c)\b(y+x) = EQ  \b(a+b+c)\b(x+y) 
4 ,прости,не получается
